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SIHR=E ¢ HYISHSIANEFE JEXS FLXRI =S
OP = INE (CHe|: M2)
&~ ol A = Xl & Al =
g = rSELRTl 4ol 52 8 = PSR EINE L A E 52

=) A 210,670 146,004 64,646 | B A 210,670 146,024 64,646
=012 0 0 0| DRSH A 210,670 146,024 A64,646
EES= 0 0 0| 8X2 0 0 0
a2 0 0 0| olz=29H| 0 0 0
) 0 0 0|72 0 0 0
OErSAE3 129,534 67,186 AB2,348| Ol EF2 0 0 0
oI xI 234 0 0 0| olxl2 0 0 0
o2 0 0 0| Xt eeliZatst 0 0 0
0l Xt 81,136 78.838 A2,298 | Ol =22 S48 0 0 0
JIEF 0 0 0| JIEIXIZE 0 0 0




SAHEE 20124
Ol &b o 20l At
A= ¢ HIISXCIAEF=8 SRS =LA

[0
N
iff

® +2H2 (r9): 1)
e aos oloH 5 2 4B
ol08

200 Ml2l==¢ 210,670 146,024 A64,646

220 LAIEN L= 210,670 146,024 A64,646

225 CIE 3 0=+= 210,670 146,024 A64,646

225-02 OEzaE=a 129,534 67,186 AB2,348
OllEZ2ate= 67,186,000 = 67,186

225-03 OGIE =201 A== 81,136 78,838 A2,298
Osgratell12 ez Ol 1,975,906,000%3.9% = 78,838

= o g A 210,670 146,024 264,646
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A2 ¢ HIISHEIAIEF=E FeEXE FLIXRI|2
@ XIEH (crl: zel)
28 .- 22 -3 - 42 - H2AE - BHES HECXEH INE Hlwns2
HAD 210,670 146,024 A64,646
Hol2 210,670 146,024 64,646
HAS CABARY 210,670 146,024 64,646
AR HIISHEN(HIISHIALTY IeN A =0IXAI|2) 210,670 146,024 64,646
FOIRIR ALY 210,670 146,024 64,646
301 LB AZ 60,000 60,000 0
0 JEEAR 60,000 60,000 60,000 0
OFRINZE M 22| 60,000
—HEs 5,000,00020% 122 = 60,000
307 LIZHo|A 129,938 86,024 A43,914
© OIIHAER 86,024 129,938 86,024 743,914
OUESFLIXIAAY 86,024
—4 LISt XIS 5,951, 70021 %2KICH = 11,904
—Zel2EAI (2E]) 24,750, 00021 %2KICH = 49,500
=L 20,000,00021* 1HICH = 20,000
—LE= 39 2,310,00021*2KICH = 4,620
X s g A 210,670 146,024 AB4,646
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oz | BEX2 2= | onz) TS | ol Aol Al | BT Jwoi=an | oas | pizas | KIS
2006 MKl | 5,869,921 | 5,209,295 0 0 0 0| 660,626 0| 2,917.648| 2,917,648 0 0 0 0 0| 295,273
2007 & 578,530 | 457,266 0 0 0 0| 121,264 0| 700,045 700,045 0 0 0 0 0| ~121,515
2008 & 506,748 | 366,341 0 0 0 0| 140,407 0| 102,839 102,839 0 0 0 0 0| 403,909
200921 & 554,508 | 401,135 0 0 0 0| 153,393 0| 130.30| 130,360 0 0 0 0 0| 424,168
20108 & 358,705| 247,405 0 0 0 0| 111,300 0| 1,912,100| 1,912,100 0 0 0 0 0| ~1,553,39
2011E S 81,136 0 0 0 0 0 81,136 0| 210.670| 210,670 0 0 0 0 0| ~129,534
20128 78,838 0 0 0 0 0 78.838 0| 146,024 146,024 0 0 0 0 0| ~67,186
A 8,028,406 | 6,681,442 0 0 0 0| 1.346.94 0| 6,119,686| 6,119,686 0 0 0 0 0| 1,908,720
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SIHESE 1 2012
Ol AR 20& )
SITE ¢ HIISR2IAILE A =X 2I|2
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CIXI & OflEren
= GlIXI (EH) X Bl
2010 = LS K| oA 01ECLS U@ 2012 LS I HD® E2(@-®@)
=yl 2,105,440 1,975,906 1,908,720 N\67,186
== A 2,105,440 1,975,906 1,908,720 N\67,186
Seraed|=2 2,105,440 1,975,906 1,908,720 AB7,186




